4. This map shows where all the goods are in Adsco's Supermarket.
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Give Mrs Jones directions to find the Cereals.
Walk straight ahead and take the ... right.

+  The Cereals are on your

- I turn right at the entrance and walk forward.
I take the 2nd left and walk forward.

Turn 1st ........ .

T take the 2nd left and stop.

What will T see on my right side ?

a What is North of the Plants
What is East of the Milk
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5. In the diagram above, the Fruit is North of the Bread.

Angles, Position & Movemeft

Mrs Jones is at the Entrance and wants to buy some Cereals.

Give similar directions to get from the Entrance to the Butter.

b  What is South of the Soap
d What is West of the Sugar ? |

. @ Sharon bought a pack of chicken fillets

l - Revision of Money I -

a 1p coins in 50p

. How many :-

b 2p coins in 30p ¢ Spcoinsin45p ?

List the fewest number of coins you
would use to buy this slice of cake.

Write these amounts of money using a decimal point :- (68p = £0-68)

a- 37p b 8p c 241p d ninety pence.

Set down these additions and subtractions and work them out :-

a £0-64 b £4-15 c £5:29
+£0-26 - £148 + £4-85
d £601-£352 e £529+£179 f £1.67-78p.

How much money does each person have ?

for £4-20 and 2 lettuces at 40p each.
How much did it cost her in total ?

Alex went to the snooker club with £8.

He paid £3-25 for his games of snooker
and £2-88 for something to eat and drink.

How much money was he left with ?

J
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